BENRTHR

X4 F TGS B E ] TRE GiCE et 1] AR E RS EET &
—HEEE BER —HEEE WRE —HEEE BEE — RS WRE —HEEE BEE —HEEE WRE —HEEE WRE
TEE 5 2 2 12 14 8 63 10
BEHE 6 19 1 3 26 3
EFE 1 4 2 11 3 2 20 3
TEHE 1 4 6 5 9 6 2 27 6
MEHE 1 1 12 5 1 9 3 3 30 5
A 1 1 5 2 3 4 2 1 14 5
BEER 3 7 1 3 12 6 1 26 7
R 1 1 12 1 1 5 2 1 21 3
WmARE 6 3 6 4 3 19 3
HEE 4 1 13 6 2 24 2
BER 1 18 7 6 8 2 2 35 9
FEE 1 4 7 3 11 3 1 25 5
g 1 7 3 2 4 1 2 16 4
EINES 1 5 1 1 4 3 2 13 4
bkl 6 4 6 6 3 2 19 8
EWLE 3 5 1 2 11
RIINE 4 6 5 15
BHE 2 1 1 6 3 1 12 2
WEIE 1 5 2 6 3 2 16 3
EHFE 4 3 5 24 24 4 55 9
s B 15 1 2 4 3 6 4 3 1 15 9
Ba[E 2 1 2 10 8 4 9 7 1 35 7
BHE 1 11 1 4 9 5 2 26 7
=R 1 6 5 1 9 4 1 24 3
BEE 4 6 1 2 3 2 15 3
HERAT 1 1 2 3 2 1 7 3
KERAF 8 5 4 3 4 2 20 6
EEE 1 3 11 8 4 13 4 2 37 9
ERE 1 3 5 2 13 7 4 28 7
FILE 4 2 5 5 2 16 2
EmWE 1 1 7 8 17
ERE 5 4 7 8 1 24 1
fif] LU 2 1 8 8 4 3 5 24 5
LEE 1 1 4 5 6 4 4 2 18 9
if=]=t 1 7 3 8 5 1 23 2
mER 3 3 1 8 2 1 16 2
FINNE 3 2 1 5 2 12 1
R 1 6 6 1 4 6 22 2
SR 3 2 12 7 2 22 4
2R 1 12 2 5 13 7 6 34 12
EEE 4 3 7 5 1 19 1
REIBE 4 7 1 6 8 1 25 2
EARE 1 6 4 8 8 1 26 2
Ko 8 5 1 4 17 1
BIGE 1 1 5 5 3 12 3
ERER 6 7 1 21 6 5 40 6
iR 2 4 3 4 13
ANE
= 9 0 1 34 273 0 166 82 400 0 225 84 1,074 200




